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6. 1M1 TG S ST TR ( Which one of the f; : -
e tollowing 15 not a unit of mnss?)

Mol

(A) amu By .
(B) = (C) May (D) Nm=ts?

7. e wiE ofere s -
e T WG WM M2 ) = Asinot - a2 x; = Acoswt, (1 CFF HYQ) G078 =0 A
L] f W a1 L - & i
described by x l :‘: Rarticles are oscillating simple harmonic motion. If their displacements are
R 1= ASinwt and x; = Acoswe, what will be the phase difference between them at any

SR L (C)m/2 (D) /4

8. a3 Ton =am
i, :ﬁ v TR G Fre S ) W | m, a9 G904 F7  (In a standing wave, the
separation between two adjacent nodes is | m. What is the wavelength of it?)

{A) 25 em (B) 200 cm (C) 100 em (D) 50 em
9, afesiay oo Bum IS OIS 1% 7 (Condition for the constructive interference i5:)
(A)asing = (2n + 1J§ (B) a sin@ = ni (C)asing = n*':* (D)asing = (2n+1)4

10. Ttosy T 6les wfasrans 7, @7 ¥ F32 (What is the value of the current Jy in the circuit below?)

- {r"u}ﬂ,z{‘i (B)0.4 A (C)0.6 A (Dy1.2 A
50 OB A
A > 0
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11, 9% e 36M 500 K @492 250 K @iewag 12 wee s e w avere su 2 i
BeH (4TS | keal T ST FTE OIIF ACGT TLS WM IS wI qEe g oW 92 (A Camot
engine is operated between two reservoirs al temperatures of 500 K and 250 K. If the engine receives |
keal of heat from the source in each cycle, the amount of heat rejected to the sink in each cycle is -)

(A) 500 cal (B) 1000 cal (C) 500 keal (D) 10 keal

12, FEY o e 99T WSl ofF 5 (s 1-.'ﬂ;m-mm1mﬁmﬁm I FICEE
B 4@ W FOR SR A8 (R 6 om NG G WL W (sl oFFY 3 (When you look

downward from the top of a thick glass (refractive index 1.5) slab used as a paper wei e
paper is seen 6 cm below from the top of the slab. What is the thickness of the glass slab

(A)4 cm (B) 1Zcm (€)9em
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WREAEA (Biology) MCQ =

| #ffere Yefire qrawe wFeIEE A — (Nome qrthe etzyme used in the preparation of cheese — } e
(A) 0T (Catalase)  (B) @F (Rennin)  (C) @A (Pectin) (D) m mphm}

2 g £ 9T & T FRepE W7 (Which hormone is released from adrenal ﬂlﬂd?} o 3
. (A) grErRfeEE (Glucocorticoids) (B) =S (Gonadotropin) ey
(C) SRIEFTEA (Parathormone) (D) *nnﬁl’ﬂﬁﬂ{:-haunmj J
Ir.
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(A)75% 1 (B)E% . (C) 10% (D) 5% AN
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classified according to. ll'IﬂEr
The bacilli are a group of

ynder @ microscope,
mimg:upt These bacilli
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P wet (w11, 25 X 4 = 45)
e (Physics) ffite o
_-mm 15ﬂﬂk_g R -nm qﬁ
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